
3 - Hickory Dickory

Hickory dickory dock, 

the mouse ran up the clock.

The clock struck one,

the mouse “fell down unconscious”.


Hickory dickory dock.

This was indeed an unusual mousetrap!  Your task is to calculate how many mice could be struck down in a given span of time.  Note that the hammer hits the chime (or a mouse if it’s in the way) once on the quarter and half hours and up to 12 times on the hour.  The chiming on the hour continues once per second until the hour is counted out.

Input:


The first line contains an integer indicating the number of cases.  Each case is presented on a separate line.  A case consists of a beginning time and an ending time, with a time represented as hours, minutes, and seconds.  If the ending time is smaller or the same as the starting time, it represents a time in the next 12 hour block.  The time span to consider includes the starting time itself up to but not including the ending time.
Output:


For each case present the message “n mice” where n is the number of mice.  In the case of just one mouse, present the grammatically correct message “1 mouse”.  Number each case.
Sample Input:

3
1  0  0     1  0   1

3  0  0     3  0   2

12  0  12    1  20  2

Sample Output:

1.  1 mouse
2.  2 mice

3.  5 mice


